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nlang i log;x = A, 2Y =B

910 3log;x-2Y =10—3A-B =10—|B = 3A-10 | ——(1)

N 2¥logyx = logyx+2Y-2!
BA = A+2B ——(2) , unu (1) Tu ) agla
(BA-10)A = A+2(3A-10)
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oan log, (b-2) = log ;-3 +log > (b+2)
1
log,(b-2) = log , 32 +%loga(b+2)
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log, (b-2) = log, 3+log, (b+2)2
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log,(b-2) = log, [3(b+2)2
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(b-2) = 3(b+2)2

b2-4b+4 = 9(b+2)
b?-13b-14 = 0
(b-14)(b+1) = 0
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N (logba)2 (log,b) = 1+log 1 b
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(logpa) = 1+2log, b
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0 = 2x°+5x-12
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2x2+5x-12 = 0
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logs[(x-3)(x-5)] > loggs3'
x2 -8x+15 < 3
x?-8x+12 < 0
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910 log,x+loguy +logyz = 2 — log2x+§10g2y+510g22 =2
2log,x+log,y +log,z = 4 — logy(x?yz) = 4 — x%yz = 24 ———(1)
1 1
9N logyy+loggz+loggx = 2 — log3y+§log3z+§log3x =2
2logzy +logyz+logsx = 4 — log3(y22x) =4 - yzzx =34 — ()

1 1
1N logyz+loggx+log ey = 2 — log4z+510g4x+510g4y =2

2logyz+logyx+logyy = 4 — 10g4(22xy) =4 - zzxy =4 —(@3)
(Dx@)x@3), x*y*z? = 243%4% 5 xyz = 24 ——(4)
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